RED 00'(#
R <
<

TAILGATE CB ANTENNA

MOUNT

(1997-2006 WRANGLER TJ)

INSTALLATION INSTRUCTIONS

CONTENTS

(1) Antenna Mount

(1) M8 x 1.25 x 20mm Allen Bolt
(1) M8 Lock Washer

(1) M8 Flat Washer

(1) M8 Riv-Nut

TOOLS REQUIRED

4mm Allen Key/Socket
Phillips Screwdriver
1/2” Socket

Ratchet

SKU # J165220
Edited: 01/31/2022



’
REDROCK:
z

STEP1

Remove (4) Phillips screws from the RH side tail light lens.

STEP 2

Remove the (3) 1/2” bolts securing the tail light to the vehicle.



’
REDROCK =
z

STEP 3

Place the CB antenna mount onto the backside of the tail light. Secure the tail light to the vehicle
reusing the original hardware.

STEP 4

-

Optional Drilling: Using the pre-drilled hole as a template, drill into the body and install the provided
riv-nut. Secure the top of the bracket to the vehicle using the provided hardware.



’
REDROCK:
z

STEP 5

Re-install the lens to the tail light reusing the original hardware.

Installation is now complete.



	J165220 - RedRock 4x4 - Tailgate CB Antenna Mount (97-06 TJ)-01
	J165220 - RedRock 4x4 - Tailgate CB Antenna Mount (97-06 TJ)-02
	J165220 - RedRock 4x4 - Tailgate CB Antenna Mount (97-06 TJ)-03
	J165220 - RedRock 4x4 - Tailgate CB Antenna Mount (97-06 TJ)-04

